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1. MoEBik
(DMEET No. 40~No. 44
PEEI T X 1. 000
HLygE (RYE) TR H] m3 37. 000
HLygEl (RYE) TR H] m3 68. 000
FranyzE] O\ OF A D W+ m3 371. 000
FranygE] O\ 0F B D o (1) A m3 890. 000
HuL e (WIHED FmHa ), B8 m3 9. 000
HLyE s (FIE) PR, #5 (1) A m3 111. 000
PR L FE A s 1 m3 1, 302. 000
T = 1. 000
et 1 R m3 40. 000
U 1 AR m3 14. 000
fEELT = 1. 000
HEL m3 49. 000
FRuE T = 1. 000
X T NT T ER BYE +, L=1. 5km m3 365. 000
AT STy 7 iE i, L=1. 5km m3 937. 000
WL - Kl D T m3 1, 302. 000
EEEE T = 1. 000
PG 1A T e 1 nt 245. 000
Wik ) L5 T (1) A ot 502. 600
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R 7 bk MBS # - SRR MEEET BARR T (O FREfRE) THEEREER
TFE - AR - A0 Btk HAL Ko fii &
(2)ikmE T No. 37MC23~No. 43+10. 0
flAE T = 1. 000
A~k D10 300 nf 295. 300
AT T = 1. 000
FEEREL &L # VRS LB nf 508. 600
(3) Bk T
BFTFTHERE T (227 U — 1) Ei;é;;igooﬁg%l = 1.000
A piERE 18-8-40 (= %7) W/C=60% m3 101. 200
LR m 37.800
(4) Pk T
R DT T No. 38+6. 1 500mm X 500mm =X 1. 000
IS L2 (EBSE D) BT —25 9952400 1 g 6. 000
aryryy—F (%6 18-8-40 (f=J7) W/C=60% m3 2. 800
AR (%A i 17. 700
SR T 20cm, F¥) L i 7. 800
AR TE R T A, L=30km m3 1. 800
a7 Y—b (FA) 18-8-40 (= %7) W/C=60% m3 0. 500
AR (FFH) nf 3. 600
SR A L 20cm, H¥ L m 1. 800
A1 B TE #UE, 1L=30km m3 0. 400
Ny 7R T YEHIRDA 2 (140) g+ m3 1. 000
FEEIE ot 9. 600
RS T ggblﬁﬂﬁ 0 300mmx =y 1. 000
IS L —F o 7 (EHFIZ ) DU —25 995400 | gy 4,500

2/4
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aryr7Y—hF (FH) 18-8-40 (= %7) W/C=60% m3 1. 600
Bpe (%28) i 10. 000
SR A L 20cm, H¥ L m 4. 600
AR T A #UA, 1L=30km m3 1. 100
aryr7y—F (FH) 18-8-40 (f=J7) W/C=60% m3 0. 100
AR (A1) i 1. 100
SR AT T 20cm, F¥I L i 0. 400
FIAATE S O, L=30km m3 0. 100
Ny 7 R T IRHIHA T (1:45) HE m3 1.000
LR m 1. 300
NI =X 1. 000
P N %%Oﬁ&iﬁ {7 Z50cm X m 9 000
7B TE #UA, 1L=30km m3 1. 100
(5) %% T
av 7Y — Mg L No. 37BC23-No. 42EC25 2y 1. 000
a7 Y — MEEL AJE#¢ t=15cm nf 432. 400
TEH R ¢ 6mm 8 H 150 X 150mm nf 402. 600
H Rk VS WMEE B A t=10mm nf 6. 500
SHLE 1 D AR T (25%) m 19. 200
(6) Bt
BEAN S A v 1. 000
2y )Y -h A, B C-
[h—b v-nikidE] sk 2B, 21mA i, W (e m 18. 000
30mLL )
vy -haEA, B C-
[ —F v -wakiE] ARk ?SL]E 21mEk_F100mA i, R m 35. 000
TR ER D13 kg 32. 800
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(7)fRx T
BATSTRENT L K 1. 000
BATSTRENT L m 21. 000
(8) gAML IR
KFEAER No. 41~No. 46 K 1.000
AX IR 894 2V 1. 000
MEAR ERAR 1A = 1. 000
FRBRALEL = 1.000
KT 7 §§ PR T TR m3 23.800
FRBRIE M m3 30. 300
F > T m3 38. 100
UK L (R S TAa  2AKm 1) m 90. 000
(9) 7k AL sss
av 7 Y — ML No. 37BC23-No. 42EC25 20 1.000
arr Y — MEET ATk t=15cm nf 12. 900
WP SR ¢ 6mm 8 H 150 X 150mm ot 10. 600
H Hibk VE T RMEE H H#IAR £=10mm nf 1. 600
AR T T m3 1. 600
SR AT T 10cm, #¥J L i 13. 800
FEEIE ot 13. 800
¥Yrarrsy—rL 18-8-40 (= %7) W/C=60% m3 1. 900
¥y U T nf 2.900
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